Keg/ =86

WO s NS E= SEES HUE e NS Bz BEES
200 450 150 60 10 kg 250 570 180 70 18 kg
(FUE300&£[LTI)
450 570
57.5 —‘25 285 25’_ 57.5 135 70—‘25 380 25 70 166
150 180
S=1/15 A=0.0305 m* A=0.0121 m $=1/15 A=0.0440 w* A=0.0164 m
WUE RS &g E= SEES 110G RS 1 E= ZEES
300 570 180 70 18 kg 400 710 180 80 25 kg
(FUE250£BLUTI)
570 710
70 25 380 25 70 166 80 25 500 25 80 166
180 180
$=1/15 A=0.0440 m* A=0.0164 m $=1/15 A=0.0614 m* A=0.0182 m
FOE RS =3 E= SEES WUg RS [EE B SEES
450 790 180 90 32 kg 500 840 180 90 33 kg
790 840
90_‘30 550 3(‘) 90 165 90_‘30 600 3(’)_90 165
180 180
$=1/20 A=0.0774 w* A=0.0207 m $=1/20 A=0.0819 m* A=0.0207 m
WO RS &8 E= SEES HUE RS [N E= ZEES
600 990 180 100 43 kg 700 1100 180 100 48 kg
990 1100
110‘30 710 30‘110 ‘ 165 ‘ 7].103 30 820 30‘110 165
180 180
$=1/20 A=0.1065 m* A=0.0224 m $=1/20 A=0. 1174 m A=0.0224 m




Keg /=

ap

IR e &g B= SEES HUE RS [Eig E= BEEE
800 1210 180 100 52 kg 900 1320 180 100 58 kg
1210 1320
7’_103_‘30 930 30’_110 165 9’_101_‘40 1020 40’_110 164
180 180
8=1/25 A=0.1284 1t A=0.0224 wt | | s=1/25 A=0. 1421 1 A=0.0241 1t
woE RS &g B SEES wUE RS Eig E= SEEE
1000 1420 180 100 62 kg 1100 1650 180 100 11 kg
(FUEg1200&£[FLTI)
1420 1650
9110140 1120 40‘110 ﬁ 9110140 1350 40‘110 ﬁ
180 180
$=1/30 A=0. 1521 nf A=0.0241 nt | | s=1/30 A=0. 1751 nf A=0.0241 nt
IUE R &g E= SEES IrUE R &g E= SEES
1200 1650 180 100 71 kg 1300 1760 180 100 76 kg
(U5 1 100£BLTT)
1650 1760
s 101_‘40 1350 40’_110 f—(ﬁ s 101_‘40 1460 40110 ﬁ
180 180
$=1/30 A=0. 1751 A=0.0241 wt | | s=1/30 A=0. 1861 1 A=0.0241 1t
=S RS &8 B= SEES Idex= R &g E= BEES
1400 1860 180 100 80 kg 1500 1980 180 100 85 kg
1860 1980
9110140 1560 40‘110 ﬁ 9110140 1680 40‘110 ﬁ
180 180
$=1/30 A=0. 1961 n A=0.0241 nt | | s=1/30 A=0. 2081 nf A=0.0241 nt




